1.In a certain code DATE is written as £%8@ and
STYLE is written as %€ @ How is DELAY written in
that code?
(LHe@ine  (2) #05%a
{4) #31%0 (5) None of these
2. In a certain code DETAIL is written as BJMUFE
How is SUBMIT written in that code?
(L UIWCNT (2 NJUCNT
(4) UNTVC  (5) None of these
3. 1f it is possible to make only one meaningful
word from the second, the fourth, the sixth and the
ninth letters of the word PROACTIVE, using each letter
only once, second letter of that word is your answer. If
more than one word can be formed vour answer is M
and if no such word can be formed your answer is N,
(LA 2V E (3T
4) M (5N
&, How many such pairs of letters are there in
the word FOREHAND each of which have as many
letters between them in the word as they have in the

(3) #@S%D

(3) NJUTVC

English alphabet?
(1) Mone {2) One (3) Twao
(4) Three (5) More than three

5. Four of the following five are alike in a certain
way and so form a group. Which is the one that does
not belong to the group?

(117 (2) 31 (3023
(4)13 {321

(. 610, These questions are based on the
following arrangement. Study it carefully and
answer the questions that follow.

TGE#IJ1I%LE3K9@AHTE@DZ USR4 * 8
6. Four of the following five are alike in a certain

way on the basis of their position in the above
arrangement and so form a group. Which is the one
that does not belong to the group?

(1)m (2) EL3

(4) THE (5) k43

7. What will come in place of the question mark
{*} in the following series based on the above

(3 @an

arrangement?
6] %3 9AH 7
(1) B2 {2) 7ED (3) 7ED
i4) BD2 {5) None of these

8.1f all the vowels are removed from the above
arrangement which element will be sixth to the right
of fourth element from the left?

(19 (21K (3)3

{4) @ (5 None of these

9. How many such symbols are there in the
above arrangement each of which is immediately
preceded by a number?

(1) None (21 0ne (3 Two

{4) Three (3) More than three

10. Which element is fifth to the right of eleventh
from the right end?

(1) 8 (2u (31

43 {3) None of these

Q. 11-15. In each question below are three
statements followed by two conclusions numbered |
and 11 You have to take the three given statements
to be true even if they seem to be at variance from
commenly known facts and then decide which of
the given conclusions logically follows from the
three statements disregarding commonly known
facts, Give answer;

{1} if only conclusion [ follows.

{2} if only conclusion I follows.

{37 if either conclusion [ or conclusion 11 follows.

{4)if neither conclusion [ nor conclusion 11

folloaws.

(5] if both conclusions [ and 1T follow,

Statements:
11 All taps are wells,
Some wells are canals
All canals are rivers.
Conclusions:
. Some rivers are taps
II. Some wells are rivers
Statements:
12, Some [iles are papers
Some papers are books,
All beoks are journals,
Conclusions:
|. Some papers are journals,
II. Some files are journals
Statements:
13. Some apples are grapes.
Some grapes are Mangoes,
No mango is guava.
Conclusions:
. Some guavas are apples
II. Mo guava is apple



Statements:
14, Some cOMPULETS are SCIeEns.
SOME SCreens are movies
Some movies are scripts
Conclusions:
I. Some computers are movies.
II. Some screéens are scripts
Statements:
15. All pearls are gems.
All gems are diamonds.
All corals are gems
Conclusions:
I. All pearls are diamonds
Il All corals are diamaonds,

) 16-20. In the following questions symbols @, &,
%, % and* are used with different meanings as
follows:
‘4 @ B means ‘A is not smaller than B
‘A £ B means ‘A is neither smaller than nor equal
o B
‘A %B means ‘A is neither smaller than nor greater
than B
‘A § B means ‘A is not greater than B
‘A% B' means ‘A is neither greater than nor equal to
B
In each of the following questons assuming the
given statements to be true, find owm which of the two
conclusions [ and II given below them is/are definitely
true. Give answer,
{1} if only conclusion [ is true,
(21 if only conclusion I is true.
{31 if either conclusion I or conclusion 1 is true.
{4) if neither conelusion I nor conclusion 11 is true.
{5] if both conclusions I and II are true,
Statements;
16. T@YV, V#M M%F
Conclusions:
L T#M
IL T@F
Statements:
17. L¥N, N*xF R%L
Conclusions:
L F&R
. RN
Staterments:
18 H#l I[I@] ISP
Conclusions:
L H#]
IL H¥P
Statements:
1. LD D#K K§]
Conclusions:
L LxK
L Ds§J

Statements:
20. QOSW W%E E®K
Conclusions:
I Q%K
I wWa kK

(. 21-25. In each of the following questions a
group of letters iz given followed by four
combinations of digits and symbols numbered (1), (2),
{3) and {4). The letters are to be coded az per the
scheme and conditions given below. The serial
number of the combination that correctly represents
the group of lettes is your answer. If none of the
combinations is correct your answer is (5) ie None of
these,
Letters:
Digit/
Symholcode 3 7% # 4 $6 9 @ T 2 5 ©8
Conclusions:

(i) If the first letter in the group is a vowel and
the last letter is a consonant their eodes are 1o
be interchanged.

(i} If the first letter in the group is a consonant
and the last letter is a vowel both are to be
coded by the code for vowel

(i) If the first as well as the last leter is a vowel
both are o be coded by the code for first

HITERFALEMI] B QU

letter.
21. IRHME]
(h7437@2 (2 2437@2 (3) 7437 @7
(4) 2437@7  (5) None of these
22. TFIEAR
(1)4S786%  (2)457#64 (3) %7 HE%
(4) %S6474  [5) None of these
23. MHEJRC)
(NEe3@22T  (2) T3@2&1 (3) T3@28D
(4) @3@2#@  (5) None of these
24. FIKIRU
(1) §7%948 (2) 8578048 (3) 87a048
(4) 87#94% (5) None of these
25. ALFJHE
(1) @95236 (2) 695236 (3) @I§23@
{4) 6952 3@ (5) None of these

Q. 2630, Study the following information
carefully to answer these guestions.

Seven friends K. M, I, H, F, D and C are sitting
around a circle facing the centre. Lis second to the right
of H who is to the immediate right of C. M is third to the
left of D and to the immediate right of F.

26. Who is third 1o the left of 'C'?

(L (2} K (3)F

(4)KorF (5) None of these

27. Which of the following pairs of persons
represents the neighbours of K?



(1) LD (2} FM (3) ML

{4) CH (5) None of these

28. Whao is to the immediate right of L7
(1K (2yD (3 H
(4 M (5} MNone of these

29. Who is second to the right of 'C'?
(1M (2L (3D
{4) F (5) None of these

30. Which of the following pairs of persons has
the first person sitting to the immediate right of second

persont
(1) DL (2} KF (3)CH
{4) DH (5} Mone of these

. 21-35. Study the following information
carefully to answer these guestions,

Seven friends P, Q, B, S, T, U and V are teaching
different subjects Maths, Physics, Biology, English,
History, Psychology amd French not necessarily in the
same order. Each one of them has liking for a different
colour Pink, Green, Blue, Red, Yellow, White and Orange
again not necessarily in the same order.

T teaches Biology and likes Green colour. © teaches

History and he does not like Yellow or Orange. The one
who likes Red teaches physics. P teaches French and
likes Blue The one who teaches English likes Pink. R
teaches Maths and V teaches psychology, U does not
like Red. Maths teacher does not like Yellow.

31. Which colour is liked by V?

{1} Pink {21 White

{4) Yellow {5) None of these

32. Who teaches English?

(nHu (218 (3R

(3) Orange

{4y Cannot be determined (3] Mone of these
33. Who likes White?

(1)R 218 (3

v {5) Mone of these

34. Who likes Orange?

v (2)8 (3R

{4) Cannot be determined (3) None of these

35. Which of the following combinations is
definitely correct?

(1) Red—T—Physics

{3) Red—35—Psychology

(3} None of these

(2) Pink—U—English
{4) Yellow—U—Biclogy

3, 36-40. In each of the questions given below which one of the five answer ligures on the right should come
after the problem figures on the left of the sequence were continued?

PROELEM FIGURES

ANSWER FIGURES

o | XX | XX | XX | XX | XX

X | ZX | ZX | XX | XX

1 2 3 4 5

@ s[z & ® S k|® & Z(A S Z|®@ A Z|A @ S
ar. & L A c|s O|s ok olz *
[ s ® a|l z a z * * s c
1 2 3 4 5
<4 é — o= = | A [H— =
38. 44— Jy—b G— <J— £ 4+ | 44—
1 2 3 4 5

° = =
39. ﬂn caoo| A 2 i Ac=m|=msk|=msc|sc=m|==s50
Fay 0 Fa c
1 2 3 4 5
0 0 ) [ e o [ [

1 2 3 4 5



ANSWERS AND EXPLANATIONS

1.(1) 16.(1) 17.(5)
E.E}QEE}AHTED hence SUBMIT = MITBUS. The 18.(1) 19.(4)
next letter in alphabet is the code, Le NJUCVT 20.(5) 21.03)
4.(3) FA and RN, %.09) 95,09
5. (5) Others are prime numbers. I is divisible by 3 and 7. £ '
66) 7 &) ) 100 26.(2)
1.t 15. 2”5} E E [El
- Q8 v
_ 29.(3) @
30.(4)
12.(1)
0s. 3135,
P ¢ R § T U ¥
13.02) Fr Hist Maths Phy Bio Eng Psy
Blue White Orange Red Green Pink Yellow
14, (4) 31.(4) 32.(1)
33.(3) 34.(3)
35.02) 36.(1)
5.3 37.0) 38.(1)

39.(2) 40.01)



